Math 104 - Cooley
Math For Elementary Teachers I             
OCC

Basic Skills Proficiency #4– Multiplication and Division of Integers
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	California State Content Standard – Number Sense – Grade Six

2.0 Students calculate and solve problems involving addition, subtraction, multiplication, and division:
2.3 Solve addition, subtraction, multiplication, and division problems, including those arising in concrete situations, that use
      positive and negative integers and combinations of these operations.
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THEOREM – Multiplying Integers
Let a and b be positive integers so that –a and –b are negative. Then the following are true:
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THEOREM – Dividing Integers
Let a and b be positive integers so that –a and –b are negative. Then the following are true:
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Note: Remember when multiplying or dividing two integers with the same sign, the result will be positive.
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(  Exercises:

Perform the indicated operations.
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(  Answers:
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� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���





� EMBED Equation.3  ���








_1255466363.unknown

_1255466428.unknown

_1255466464.unknown

_1255466539.unknown

_1280828903.unknown

_1255466490.unknown

_1255466510.unknown

_1255466478.unknown

_1255466439.unknown

_1255466400.unknown

_1255466414.unknown

_1255466377.unknown

_1255466178.unknown

_1255466199.unknown

_1255466345.unknown

_1255466188.unknown

_1255466059.unknown

_1255466067.unknown

_1255466162.unknown

_1255466050.unknown

_1183838704.unknown

